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#include <stdio.h> (printf("a = %d¥n", a);
printf("b = %d¥n", b);
Int main(void) { printf("a + b = %d¥n", plus);
char a, b; \printf("a - b = %d¥n", minus); )
char plus, minus; 4
T—RE(IntTH&LLY) return(0);
a=>; }
b=19;
plus = a+b;
minus = a-b;
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T—5E I\Ak IR0
rad=Yo) char| 1 -128~127
Gk c unsigned char| 1 I 0~255
shortint| 2 -32768 ~ 32767
# | unsigned shortint| 2 0~65535
= int| 4 || -2147483648~2147483647
unsigned int| 4 0 ~ 4294967295
long int| 4 || -2147483648~2147483647
__________ unsigned long int| 4 0 ~ 4294967295
float| 4 B N6HT
double| 8 A ZN1547
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11111111 = 255 01111111 =127
11111110 =254
00000010 =2
10000001 = 128 00000001 =1
01111111 =127 00000000 =0
11111111 =-1
00000100 =4 11111110 =-2
00000011 =3 11111101 =-3
00000010 = 2 11111100 =-4

00000001 =1
00000000 =0 10000000 = -128
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mat++; & ++a; MEWE?
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b=a++;
b=a; at++;
b=++a,;
a++; b=a;
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#include <stdio.h> printf("3: i=%d, L%d¥n", Li);
| | y j=j+it+; 1=4,]=13
”’}maj'f‘("o' ) printf("4: i=%d, j=%d¥n", i,j):
2 j=j+++:][i=5,]=18
i=1: | | printf("5: iI=%d, |=%d¥n", i,));
j=10; [1=1,)=10
PN =960, AT, | rtunn(oy \
orintf("2: i=9%d, j=%d¥n", i,j); | } e 3
- i=3,j=10 ++iZ2EZ{TLTH L
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#include <stdio.h>

Int main(void){
Int i1, i12;
float f1, f2;

11 =10;
12 = 3;
f1 =10;
f2 =3:

printf("i1/i2=%d¥n", 11/i2);
printf("f1/f2=%f¥n", f1/f2);

return(0);
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int i1, i2;

11 =10;

12 = 3;
printf("i1/i2=%d¥n", 11/12);
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float f1, f2:
. f1=10;
J—A i = 3 float / float
OrNt("f1/f2=9%F¥n", F1/2):

WA f1/f2=3.333333 | «— /7 %]
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#include <stdio.h>
Int main(void){
intil, i2;
11 =10:;
12 = 3;

printf("il/i2=%d¥n", i1/i2); float / float
printf("(float)il/(float)i2=%f¥n", (float)il/(float)i2);

return(0);




" A
I ANBEF

.« FADRELERS S
S (ETHE)ZTH
K

Nt I;
float f;

| = 10;

f = (float)i;
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